2015-UP FORD
MUSTANG WITH QUAD TIP EXHAUST
4" TIP COVER KIT

(34
()]
®

DETAIL A

900
0=

ITEM DESCRIPTION QTY
gﬁ 1 DRIVER-SIDE OUTSIDE TIP 1
s DRIVER-SIDE INSIDE TIP ]
1
1
8
8
8
1

PASSENGER INSIDE TIP
PASSENGER OUTSIDE TIP
M5 HEX BOLT

M5 FLAT WASHER

M5 LOCK NUT

DRILL GUIDE

O [(N[N[OW [ WIN

Refer to this LOT NUMBER when contacting customer service:

PLEASE READ BEFORE STARTING INSTALLATION

While MBRP has made every effort to ensure that all components of this system are of
superior quality and properly packaged, it is the installer’s responsibility to ensure the
following before removal of the factory exhaust:

that ALL components shown above are present.

that ALL mating components fit together.

that there are no damaged components.

that the system you have purchased is appropriate for your vehicle year, model and
configuration.

that the system will not interfere with any modifications previously installed or planned.
. that you have read and understand these instructions.

If you have any questions or are uncertain about any aspect of the installation of this system
to your vehicle please contact your dealer before commencing installation.

156198 © 12/23 PAGE 1 OF 3




15198 © 12/23

MSrRrP

This kit requires drilling holes in the stock exhaust tips. This will be very difficult
without sharp drill bits, a centering punch or centering bit, and cutting fluid. Please
consider professional installation if you do not have the recommended tools.

Installation of MBmr® Exhaust Tip Covers

1. Install the Drill Guide on to the factory exhaust tip with the included M5 hardware through
the drain hole. Mark the second hole location. Repeat on each factory exhaust tip.
Refer to Figure 1.

2. Using a 5.5mm or 7/32” drill bit, drill the marked holes on each tip. A center punch or
centering drill bit is recommended to begin the hole and guide the drill bit on the curved
surface. Cutting fluid is highly recommended.

Refer to Figure 2.

3. Deburr the new holes of any sharp edges. Identify each of the four M8RP Exhaust Tip
Covers as Driver-Side or Passenger-Side, and Inside or Outside.

DRIVER-SIDE PASSENGER-SIDE
OUTSIDE INSIDE INSIDE OUTSIDE

4. Install each Tip onto the factory exhaust by inserting the M5 Hex Bolts (2 per tip) through
the factory tip from the inside and sliding the corresponding Tip over the factory exhaust.
Set each Tip at the desired distance from the bumper and secure with the M5 Flat Washer
and M5 Lock nut. Do not overtighten the hardware as it will distort the Tip and the Tip
will not align properly with the stock exhaust.

Refer to Figures 3 and 4.

5. Inspect the MBRP Exhaust Tip Covers for any interference. If there is any interference
detected, relocate, or adjust to provide adequate clearance. Ensure all hardware connections
are secure and components are unable to rotate or slide. Verify clearances, system security
and hardware after 30-60 miles (50-100 km) of driving.

Congratulations! You are ready to begin experiencing the improved appearance of
your MBRP Exhaust Tip Covers. We know you will enjoy your purchase!

PAGE 2 OF 2



